
In Exercises 5-10. find the inverse of J informally. 
Verify that /(/- '(x)) = x andJ- 1(J(x)) = x. 

5. J(.r) = 8.r 

7. J(.r) = .r + I 0 

9. f(.r) = 3 
.r 

6. f(x) = Ix 
5 

8. f(x) = X - 5 

IO. f (x) = x5 

In Exercises 11-20, show thatf a nd g are inverse func­
tions (a ) a lgebraically and (b) graphically. 

X 
11 . f(x) = 2x, g(x) = 

2 

J2. J(x) = x - 5, g(x) = x + 5 

x - 1 
13. J(x) = Sx + I, g(x) = 

5 

3 -x 
14. J(x) = 3 - 4x, g(x) = - -

4 

JS. J(x) = x3
. g(x) = 3 x 

I I 
16. J(x) = - , g(x) = -

X X 

17. J(x) = x - 4, g(x) = x2 + 4, x ~ 0 

18. J(x) = I - x3
. g(x) = ~ 

19. J(x) = 9 - x 2
, x~ O, g(x) = ~' x $ 9 

I 
20. f(x) = - , X ~ 0 

l +x 

1 -x 
g(x) = - , 0 < x $ I 

X 

In Exercises 21 a nd 22, does the function have an 
inverse? 

22. 
X I - 3 - 2 - I 0 2 3 

J(x) 
L... 

10 6 4 I - 3 - 10 
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In Exercises 23-26, does the function have an inverse? 

23. y 24. y 

6 6 

X 

- 4 -2 2 4 

- 2 -2 

25. y 26. y 

2 4 

2 
X 

- 2 2 X 

2 4 6 
-2 -2 

,,~·:' In Exercises 27-32, use a graphing utility to graph the • 
function and use the Horizontal Line Test to determine 
whether the function has an inverse. 

4 -x 
27 g(x) = -. 6 

28. J(x) = 10 

· 29. h(x) = Ix + 41 - Ix - 41 
30. g(x) = (x + 5)3 

~--
31. J(x) = - 2x ) 16 - x2 

32. J(x) = ~(x + 2)2 
- I 

In Exercises 33-42, find the inverse of the function f. 
Then graph both f and 1- 1 on the same coordinate 
system. 

33. J(x) = 2x - 3 34. J(x) = 3x 

35. f(x) = x5 36. f(x) = x3 + I 

37. J(x) = Jx 38. f(x) = x 2, x ~ 0 

39. J(x) = ) 4 - x2
, 0 $x$2 

4 
40. J(x) = -

X 

41. J(x) = Yx-=--T 42. J(x) = x315 

X 

j 


